1102 FEZNZ A EME- YK 401

= ~ E g 1im o = o = o = o = o = = =
%{ - AEMEL (MEL-% |FFEME2 (ME2-% |FEMES ([AE3-% |EEMES |[@EI-% |FEM@ES|@ES-% |FE0Ee|0Ee6-%
=£3Z-=£_X — s TP =) A == EE%?EIE\'
s |BRE (RBS® 20|1E% 30| AR A AR 20| 1F 20| 5 10
= /.
B KTEE/
==} AR o Az IS 3
= e 70| ¥4 E 30

EY-EZ1 |BRS |BYeE 30|F# M ERRE 30[8E 1 20| FERE 20
Y-l |BEE |REXRIR 20(B1E 20|&EE 15| B 5/ %E 20|84 O EE R 5
£1EE3 AiRE |RIEE 20|1E% 40| 4R 1B 20|1R17EE R 20
B3 TIhE |BEREE 20(B1E 20| EERIRE 20(/\4BZRIR 15|E T =2 25
oy NP e EfFE
aR=F CEE E so[iRRIEREIE 0/ 30

5
BY-EM2 |RIE |7EMm 80|&MTINE 20

IERESEEEEN
By H% |20 |BEEE 25[FRERIT 25|28 2= 81 25| BE RS 25
a3 AiRE | mmiaER 20|E 525 1E 0|EEEE 30|1E% 20
Eie-#/mE1 |k |RERIE 0|2 B EE 20/ NAHERIR 0|EFEE 30

= =i X3 313 &b 22 RS N $ =E ‘@
e, |mEm |BEeE Jo|mmatE -~ 20 g’j%"& 60
5

sE 14 -gE M A
B(EEE |ARE |REXRIR 50| 2BEE 50
58)2 _ | _ _ _ _
sEM-TEEEL |BEE |REXRIR 20(B1E 20|&EE 15| B/ %E 20|84 20|=:ERRE 5
B RAY frenl
= - AR |BPEE 20| B IR 1E 30((BIEEE 50

1)




